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ÁR;sd Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj 

lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 
ANSWER SHEET)esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA 

;fn fdlh ijh{kkFkhZ }kjk fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy 

fd;s x;s ÁFker % ;Fkk fufnZ”V Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s 

tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus 

gSaA mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd %iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ %  Á’uiqfLrdk [kksyus ij ÁFker % tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 
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1. What is Exercise Physiology ? 

(A) An Academic Program of 

Study, and a Course in 

Exercise or Sports Sciences 

(B) A profession and Research or 

Areas of investigation 

(C) Exercise Physiology is one of 

the major sub-disciplines of 

Sport and Exercise Science, 

and evolved from its parent 

discipline physiology 

(D) All of the Above 

 1. O;k;ke ‘kjhj fØ;k foKku D;k gS \ 

(A) v/;;u dk ,d vdknfed dk;ZØe] 

vkSj O;k;ke ;k [ksy foKku esa ,d 

ikB;Øe 

(B) ,d is’kk vkSj ‘kks/k ;k tkap ds {ks= 

(C) O;k;ke ‘kjhj fØ;k foKku [ksy vkSj 

O;k;ke foKku ds izeq[k mi&fo”k;ksa esa 

ls ,d gS vkSj vius ewy vuq’kklu 

‘kjhj fØ;k foKku ls fodflr gqvk gS 

(D) mijksDr lHkh 

2. What is Physiology ? 

(A)   Physiology is the study of 

how living systems function.  

(B) Physiology is the study of 

how the human body 

functions.  

(C) A separate academic field of 

study within the biological 

sciences. 

(D) All of the Above 

 2. fQft;ksykWth D;k gS \ 

(A) fQft;ksykWth bl ckr dk v/;;u gS 

fd thfor iz.kkfy;k¡ dSls dk;Z djrh 

gSA 

(B) fQft;ksykWth bl ckr dk v/;;u gSA 

fd ekuo ‘kjhj dSls dk;Z djrk gSA 

(C) tSfod foKku ds Hkhrj v/;;u dk 

,d vyx ‘kS{kf.kd {ks=A 

(D) mijksDr lHkh 
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3. The current academic discipline of 

exercise physiology emerged from 

the influences of several traditional 

field primarily of: 

(A)   Anatomy, physiology, and  

(B) Medicine  

(C) Physical Science  

(D) Only (A),(B) and (C) 

 3. O;k;ke ‘kjhj foKku dk orZeku ‘kS{kf.kd 

vuq’kklu dbZ ikjaifjd {ks=ksa ds izHkkoksa ls 

mHkjk gS% 

(A) ‘kjhj jpuk foKku] ‘kjhj foKku] vkSj 

(B) vkS”kf/k- 

(C) HkkSfrd foKku 

(D) dsoy (A),(B), vkSj (C) 

4. Human physiology integrates 

aspects of;  

(A)   Chemistry and biology 

(B) Nutrition and physics, 

(C) Medical sciences 

(D) Only (A),(B),(C) 

 4. ekuo ‘kjhj fØ;k foKku ds igyqvksa dks 

,dhÑr djrk gS( 

(A) jlk;u foKku vkSj tho foKku] 

(B) iks”k.k vkSj HkkSfrdh] 

(C) fpfdRlh; foKku 

(D) dsoy (A),(B),(C) 

5. What are the two cornerstones of 

exercise physiology are ? 

(A)   How the body responds to the 

acute stress of exercise, or 

physical activity 

(B) How it adapts to the chronic 

stress of repeated bouts of 

exercise, that is, exercise 

training. 

(C) A broad area of study (e.g., 

cell, invertebrate, vertebrate, 

comparative, human) 

(D) Only (A) and (B) 

 5. O;k;ke ‘kjhj fØ;k foKku ds nks vk/kkjf’kyk 

D;k gSa \ 

(A) O;k;ke] ;k ‘kkjhfjd xfrfof/k ds rhoz 

ruko ds fy, ‘kjhj dSls izfrfØ;k 

djrk gS 

(B) ;g O;k;ke ds ckj&ckj gksus okys 

eqdkcyksa] ;kuh O;k;ke izf’k{k.k ds 

iqjkus ruko ds fy, dSls vuqdwy gSA 

(C) v/;;u dk ,d O;kid {ks= ¼tSls] 

dksf’kdk] vd’ks:dh] d’ks:d] 

rqyukRed] ekuo½A 

(D) dsoy (A) vkSj (B) 
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6. “Exercise Physiology is the study 

of how our bodies’__________are 

altered when we are exposed to 

acute and chronic bouts of 

exercise.”, 

(A)   Structures and functions  

(B) Organ and functions 

(C) Structures and performance 

(D) Human tissues or organs 

 6. ÞO;k;ke fQft;ksykWth bl ckr dk v/;;u 

gS fd tc ge O;k;ke ds rhoz vkSj  iqjkus 

eqdkcyksa ds laidZ esa vkrs gSa rks gekjs ‘kjhj 

ds ____________dSls cny tkrs gSaAß 

(A) lajpuk,a vkSj dk;Z 

(B) vax vkSj dk;Z 

(C) lajpuk vkSj izn’kZu 

(D) ekuo Ård ;k vax 

7. “Sports Physiology further applies 

the concepts of __________to 

training the athlete and enhancing 

the athlete’s sport performance.”  

(A)   Exercise physiology  

(B) Exercise Science 

(C) Medical Sciences 

(D) Anatomy and physiology  

 7. ÞLiksV~lZ fQft;ksykWth ,FkyhV dks izf’k{k.k 

nsus vkSj ,FkyhV ds [ksy izn’kZu dks c<+kus 

ds fy, __________dh vo/kkj.kkvksa dks 

vkxs ykxw djrh gSAß 

(A) O;k;ke ‘kjhj fØ;k foKku 

(B) O;k;ke foKku 

(C) fpfdRlh; foKku 

(D) ‘kjhj jpuk foKku vkSj ‘kjhj foKku 

8. Exercise physiology is an aspect of 

____________that involves the 

study of how the body, from a 

functional standpoints, respond, 

adjust and adapt to exercise. 

(A)   Sports Medicine 

(B) Spots Sciences 

(C) Basic and Applied Science 

(D) Exercise and Adaptation 

 8. 

 

 

O;k;ke ‘kjhj fØ;k foKku 

____________dk ,d igyw gS ftlesa ;g 

v/;;u ‘kkfey gS fd dSls ‘kjhj] dk;kZRed 

nf̀”Vdks.k ls ] izfrfØ;k djrk gS] lek;ksftr 

djrk gSvkSj O;k;ke ds vuqdwy gksrk gSa 

(A) [ksy fpfdRlk 

(B) [ksy foKku 

(C) cqfu;knh vkSj vuqiz;qDr foKku 

(D) O;k;ke vkSj vuqdwyu 
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9. Exercise Physiology is one of the 

major sub-disciplines of Sport and 

Exercise Science, and evolved 

from its parent discipline_______. 

 (A)   Physiology 

(B) Anatomy 

(C) Sports Medicine 

(D) Physical Education 

 9. O;k;ke fQft;ksykWth [ksy vkSj O;k;ke 

foKku ds izeq[k mi&fo”k;ksa esa ls ,d gS] 

vkSj blds ewy vuq’kklu ls fodflr gqvk 

gS____________A 

(A) ‘kjhj fØ;k foKku 

(B) ‘kjhj jpuk 

(C) [ksy fpfdRlk 

(D) ‘kkjhfjd f’k{kk 

10. Which is wrong ? 

(i)   Physiology is the study of 

human processes 

(ii) Physiology is the study of 

how living organs function 

(iii) Physiology is the study of 

how the human body 

mechanism 

(iv) Physiology is the study of 

Physical Education 

Select the Correct : 

(A) Only (i) 

(B) Only (i) and (ii) 

(C) All are wrong 

(D) None of them 

 10. dkSu lk xyr gS \ 

(i) fQft;ksykWth ekuo izfØ;kvksa dk 

v/;;u gS 

(ii) fQft;ksykWth bl ckr dk v/;;u gS 

fd thfor vax dSls dk;Z djrs gSa 

(iii) fQft;ksykWth bl ckr dk v/;;u gS 

fd ekuo ‘kjhj dk fØ;kfof/k dSlh gS 

(iv) fQft;ksykWth ‘kkjhfjd f’k{kk dk 

v/;;u gS 

lgh dk p;u djsa % 

(A) dsoy (i) 

(B) dsoy (i) vkSj (ii) 

(C) lc xyr gSa 

(D) buesa ls dksbZ Hkh ugha 
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11. The first law of thermodynamics 

states: 

(A)   All living organisms are 

composed of cells  

(B) Usable energy cannot be 

100% efficiently transformed 

from one type to another  

(C) Energy can neither be created 

nor destroyed  

(D) Input of heat energy increases 

the rate of movement of 

atoms and molecules  

 11. Å”eizoSafxdh dk igyk fu;e dgrk gS% 

(A) lHkh thfor tho dksf’kdkvksa ls cus 

gksrs gSa 

(B) iz;ksx djus ;ksX; ÅtkZ dks 100% 

dq’kyrk ls ,d izdkj ls nwljs izdkj 

esa ifjofrZr ugha fd;k tk ldrk gSa 

(C) ÅtkZ dks u rks cuk;k tk ldrk gS 

vkSj u gh u”V fd;k tk ldrk gS 

(D) Å”ek ÅtkZ ds buiqV ls ijek.kqvksa 

vkSj v.kqvksa dh xfr dh nj c<+ tkrh 

gS 

12. Metabolism is best defined as 

which of the following? 

(A)   The breakdown of glucose 

with the release of energy  

(B) Building nucleic acids with 

the input of energy 

(C) The breakdown of proteins 

into amino acids 

(D) The synthesis of lipids for the 

plasma membrane 

 12. p;kip; dks fuEufyf[kr esa ls fdlds :i 

esa lcls vPNh rjg ifjHkkf”kr fd;k x;k gS\ 

(A) ÅtkZ dk foekspu ds lkFk Xywdkst dk 

VwVuk 

(B) ÅtkZ ds buiqV ds lkFk U;wfDyd 

,flM dk fuekZ.k  

(C) vehuks ,flM esa izksVhu dk VwVuk 

(D) IykTek f>Yyh ds fy, fyfiM dk 

la’Yks”k.k 
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13. Metabolism can be defined as 

the________.  

(A)   Adjustment by an organism 

to external or internal 

changes. 

(B) Process whereby all 

unspecialized cells become 

specialized to perform 

distinct functions 

(C) Process whereby new cells 

are formed to replace worn-

out cells 

(D) Sum of all chemical reactions 

in an organism 

 13. p;kip; dks ________ds :i esa ifjHkkf”kr 

fd;k tk ldrk gSA  

(A) fdlh tho }kjk ckgjh ;k vkarfjd 

ifjorZuksa ds fy, lek;kstu 

(B) izfØ;k ftlls lHkh fof’k”V dksf’kdk,a 

fof’k”V dk;Z djus ds fy, fof’k”V gks 

tkrh gSa 

(C) og izfØ;k ftlls iqjkuh dksf’kdkvksa 

dks cnyus ds fy, ubZ dksf’kdkvksa dk 

fuekZ.k gksrk gSA 

(D) ,d tho esa lHkh jklk;fud 

izfrfØ;kvksa dk ;ksx 

14. Adenosis triphosphate (ATP) is an 

important molecule because 

it_______.   

(A)   Is the result of catabolism 

(B) Release energy in 

uncontrolled bursts 

(C) Stores energy for use by body 

cells 

(D) All of the above 

 14. ,Mhuksflu VªkbQkWLQsV ¼,Vhih½ ,d egRoiw.kZ 

v.kq gS D;ksafd ;g ________ gSA 

(A) vip; dk ifj.kke gS 

(B) vfu;af=r foLQksVksa esa ÅtkZ NksM+uk 

(C) ‘kjhj dh dksf’kdkvksa }kjk mi;ksx ds 

fy, ÅtkZ dk HkaMkj.k djrk gSA 

(D) Åij ds lHkh 
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15. Humans have the most urgent need 

for a continuous supply of _____.   

(A)   Food 

(B) Nitrogen 

(C) Oxygen 

(D) Water 

 15. euq”;ksa dks ________dh fujarj vkiwfrZ dh 

lcls rRdky vko’;drk gSA 

(A) Hkkstu 

(B) ukbVªkstu 

(C) vkWDlhtu 

(D) ikuh 

16. Process in which cells remove 

phosphate groups from molecules 

of ATP to form ADP and free 

energy? 

(A)   Cellular respiration 

(B) Photosynthesis 

(C) Hydrolysis 

(D) Metabolism 

 16. fdl izfØ;k esa dksf’kdk,a ,Vhih ds v.kqvksa 

ls QkWLQsV lewgksa dks ,Mhih vkSj eqDr ÅtkZ 

cukus ds fy, gVk nsrh gSa\ 

(A) dksf’kdh; ‘olu 

(B) izdk’k la’ys”k.k 

(C) gkbMªksfyfll 

(D) mikip; 

17. An endergonic reaction: 

(A)   Proceeds spontaneously  

(B) Overall releases energy 

(C) Overall requires energy 

(D) Requires an enzyme 

 17. ,d vartkZr izfrfØ;k% 

(A) Lor% gh vkxs c<+rk gS 

(B) dqy eqDr ÅtkZ gS 

(C) dqy ÅtkZ dh vko’;drk gS 

(D) ,atkbe dh vko’;drk gS 
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18. A hydrolase. 

(A)   Rearranges groups within a 

molecule. 

(B) Joins two molecules together 

using energy from ATP.  

(C) Transfers part of one 

molecule to another molecule  

(D) Splits a bond by adding a 

water molecule  

 18. ,d gkbMªksysl% 

(A) ,d v.kq ds Hkhrj lewgksa dks 

iqUkO;ZofLFkr djrk gS 

(B) ,Vhih ls ÅtkZ dk mi;ksx djds nks 

v.kqvksa dks ,d lkFk tksM+rk gS 

(C) ,d v.kqvksa ds Hkkx dks nwljs v.kq esa 

LFkkukarfjr djrk gS 

(D) ikuh ds v.kq dks tksM+dj ,d ca/ku 

dks foHkkftr djrk gS 

19. Which of the following factors can 

affect enzyme activity? 

(A)   Temperature and pH 

(B) The presence of certain metal 

ions  

(C) The additions or removal of 

phosphate  

(D) All of the above 

 19. fuEufyf[kr esa ls dkSu lk dkjd ,atkbe 

xfrfof/k dks izHkkfor dj ldrk gS\ 

(A) rkieku o ih,p 

(B) dqN /kkrq vk;uksa dh mifLFkfr 

(C) QkWLQsV dks tksM+us ;k gVkus  

(D) mijksDr lHkh 

20. The energy for all forms of muscle 

contraction is provided by:  

(A)   ATP 

(B) ADP 

(C) Oxidative phosphorylation   

(D) Generated in the 

mitochondria of the cell 

 20. ekalisf’k;ksads ladqpu ds lHkh :Ikksa ds fy, 

ÅtkZ iznku dh tkrh gS% 

(A) ,Vhih 

(B) ,Mhih 

(C) vkWDlhMsfVo QkLQkfjyhdj.k 

(D) dksf’kdk ds ekbVksdkWfUMª;k esa mRiUu 
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21. For very high force contractions 

lasting 1-2 seconds, the initial 

energy sourcs is from: 

(A)   Glycolysis 

(B) Creatine Phosphorylation  

(C) Phosphocreatine stores   

(D) ATP stores 

 21. 1&2 lsdaM rd pyus okys vR;f/kd mPp 

cy ladqpu ds fy, ] izkjafHkd ÅtkZ lzksr gS% 

(A) Xykbdksykbfll 

(B) fØ,fVu QkLQkfjyhdj.k 

(C) QkWLQksLkzhVkbu LVksj 

(D) ,Vhih LVksj 

22. Anaerobic metabolism refers to the 

generation of ATP:  

(A)   Without the use of glycogen 

(B) Without the use of oxygen 

(C) In the absence of available 

oxygen 

(D) By the conversion of 

pyruvate to lactate 

 22. vok;oh; p;kip; ,Vhih mRiknu dks 

lanfHkZr djrk gS% 

(A) Xykbdkstu ds mi;ksx ds fcuk 

(B) vkWDlhtu ds mi;ksx ds fcuk 

(C) miyC/k vkWDlhtu dh vuqifLFkfr esa 

(D) ikb:osV dks ySDVsV esa cnyus ls 

23. The most rapid method to 

resynthesise ATP during exercise 

is through:  

(A)   Glycolysis 

(B) Phosphocreatine breakdown 

(C) Tricarboxylic acid cycle 

(Krebs’s cycle) 

(D) Glycogenolysis 

 23. vH;kl ds nkSjku ,Vhih dks fQj ls la’ysf”kr 

djus dk lcls rst+ rjhdk gS% 

(A) Xykbdksykbfll 

(B) QkWLQkslzhVkbu VwVuk 

(C) VªkbdkjckWfDlfyd ,flM pØ ¼ØsCl 

pØ½ 

(D) Xykbdkstsuksfyfll 
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24. In general, the higher the intensity 

of exercise, the greater the 

proportional contribution of: 

(A)   Aerobic energy production  

(B) Anaerobic energy production 

(C) The TCA cycle (Krebs’ 

cycle) to the production of 

ATP 

(D) For oxidation 

 24. lkekU; rkSj ij] O;k;ke dh rhozrk ftruh 

vf/kd gksxh] vkuqikfrd ;ksxnku mruk gh 

vf/kd gksxk% 

(A) ,jksfcd ÅtkZ mRiknu 

(B) vok;oh; ÅtkZ mRiknu 

(C) ,Vhih ds mRiknu ds fy, Vhlh, 

pØ¼ØsCl pØ½ 

(D) olk vkWDlhdj.k 

25. The energy released fromm the 

breakdown of the high-energy 

phosphates. ATP and 

phosphocreatine, can sustain 

maximal exertion for about: 

(A)   1-2 Seconds 

(B) 5-10 Seconds 

(C) 30-40 Seconds 

(D) 50-60 Seconds 

 25. mPp&ÅtkZ QkWLQsV] ,Vhih vkSj 

QkWLQkslzhVkbu ds VwVus ls fudyus okyh 

ÅtkZ] vf/kdre ifjJe O;k;ke dks yxHkx 

cuk, j[k ldrh gS% 

(A) 1&2 lsdaM 

(B) 5&10 lsdaM 

(C) 30&40 lsdaM 

(D) 50&60 lsdaM 

26. While training for long distances, 

it is better to : 

(A)   Train at the ground 

(B) Train at low altitudes  

(C) Eat more proteins 

(D) Train at high altitudes  

 26. yach nwjh ds fy, izf’k{k.k djrs le;] ;g 

csgrj gSa % 

(A) tehu ij Vsªu 

(B) de mapkbZ ij Vªsu 

(C) vf/kd izksVhu [kk,a 

(D) ÅapkbZ ij Vsªfuax 



Series-A MPCC 102/ 678 Page - 13 

27. Glycolysis is the name given to the 

pathway involving the conversion 

of: 

(A)   Glycogen to glucose-6- 

phosphate  

(B) Glycogen or glucose to 

fructose  

(C) Glycogen or glucose to 

pyruvate or lactate 

(D) Glycogen or glucose to 

pyruvate or acetyl CoA 

 27. Xykbdksykbfll ml ekxZ dks fn;k x;k 

ukegS ftlesa :ikarj.k ‘kkfey gS% 

(A) Xykbdkstu ls Xywdkst&6&QkWLQsV 

(B) Xykbdkstu ;k Xywdkst ÝqDVkst ds 

fy, 

(C) Xykbdkstu ;k Xywdkst ls ikb:osV 

;k ySDVsV djus ds fy, 

(D) Xykbdkstu ;k Xywdkst ls ikb:osV 

;k ,flVkby CoA 

28. The conversion of one molecule of 

glucose to two molecules of 

pyruvate results in the net 

formation of: 

(A)   Six molecules of water 

(B) Two molecules of ATP 

(C) Three molecules of ATP 

(D) Thirty-eight molecules of 

ATP 

 28. Xywdkst ds ,d v.kq ds ikb:osV ds nks 

v.kqvksa esa ifjorZu ds ifj.kkeLo:i ‘kq) 

fuekZ.k gksrk gS% 

(A) ikuh ds Ng v.kq 

(B) ,Vhih- ds nks v.kq 

(C) ,Vhih- ds rhu v.kq 

(D) ,Vhih- ds vM+rhl v.kq 

29. The creatine kinase reaction is: 

(A)   Irreversible 

(B) Slow compared with 

glycolysis 

(C) Not activated until all the 

ATP has been used up 

(D) Inhibited by low pH in the 

muscle 

 29. fØ,fVu dhust izfrfØ;k gS% 

(A) vifjorZuh; 

(B) Xykbdksykbfll dh rqyuk esa /khek 

(C) tc rd lHkh ,Vhih dk mi;ksx ugha 

fd;k tkrk gS rc rd lfØ; ugha 

gksrk gSA 

(D) ekalisf’k;ksa esa de ih,p }kjk ckf/kr 
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30. The complete resynthesise of 

phosphocreatine after very high 

intensity exercise normally takes: 

(A)   About 10 Seconds 

(B) About 30 Seconds 

(C) About 1 Minute 

(D) About 4 Minutes 

 30. cgqr vf/kd rhozrk okys O;k;ke ds ckn 

QkWLQkslzhVkbu dk iw.kZ iqulZa’ys”k.k lkekU; 

:Ik ls gksrk gS% 

(A) yxHkx 10 lsdaM 

(B) yxHkx 30 lsdaM 

(C) yxHkx 1 feuV 

(D) yxHkx 4 feuV 

31. The enzymes of glycolysis are 
located in the: 
(A)   Mitochondrion 
(B) Nucleus 
(C) Cytoplasm 
(D) Lysosomes 

 31. Xykbdksykbfll ds ,Utkbe vofLFkr gSSa% 

(A) ekbVksdkWfUMª;u 

(B) ukfHkd 

(C) lkbVksIykTe 

(D) ykblkslkse 

32. After what period of time does 
maximal dynamic exercise become 
predominantly aerobic?  
(A)   10 seconds 
(B) 30 seconds 
(C) 1 minute 
(D) 4 minutes 

 32. vf/kdre xfr’khy O;k;ke fdl vof/k ds 

ckn eq[; :i ls ,jksfcd gks tkrk gS\ 

(A) 10 lsdaM 

(B) 30 lsdaM 

(C) 1 feuV 

(D) 4 feuV 

33. Muscle lactate production 

increases when: 

(A)   Oxygen is readily available 

(B) Pyruvate cannot be formed 

from glucose breakdown 

(C) The pH of the muscle falls 

(D) Glycolysis is activated at the 

onset of exercise. 

 33. ekalisf’k;ksa esa ySDVsV dk mRiknu c<+krk gS 

tc% 

(A) vkWDlhtu vklkuh ls miyC/k gS 

(B) Xywdkst VwVus ls ikb:osV ugha cu 

ldrk gS 

(C) is’kh dk ih,p fxj tkrk gS 

(D) O;k;ke dh ‘kq:vkr esa 

Xykbdksykbfll lfØ; gksrk gS 
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34. Respiratory quotient (R.Q.) falls in 

all the following conditions 

except: 

(A)   Acidosis 

(B) Febrile conditions  

(C) Diabetes mellitus 

(D) Starvation 

 34. ‘olu HkkxQy (R.Q.) fuEufyf[kr lHkh 

fLFkfr;ksa esa vkrk gS flok; ,d % 

(A) ,flMksfll 

(B) Toj dh fLFkfr 

(C) e/kqesg esfyVl 

(D) Hkq[kejh 

35. Choose the incorrect statement 

about BMR out of the following: 

(A)   BMR is directly related to the 

surface area 

(B) BMR is inversely 

proportional to the age  

(C) BMR is increased in warm 

climate 

(D) Males have higher BMR than 

age matched females. 

 35. fuEufyf[kr esa ls ch,evkj ds ckjs es xyr 

dFku pqusa % 

(A) ch,evkj lh/ks lrg {ks= ls lacaf/kr gS 

(B) ch,evkj mez ds foijhr vkuqikfrd gS 

(C) xeZ tyok;q esa ch,evkj c<+ tkrk gS 

(D) iq:”kksa dk ch,evkj mez ls esy [kkus 

okyh efgykvksa dh rqyuk es avf/kd 

gksrk gSA 

36. The percentage of total calories 

obtained from carbohydrates 

should be between ? 

(A)   15-20% 

(B) 20-35% 

(C) 50-60% 

(D) 5-10% 

 36. dkcksZgkbMsªV ls izkIr dqy dSyksjh dk izfr’kr 

fdlds chp gksuk pkfg,\ 

(A)   15-20% 

(B) 20-35% 

(C) 50-60% 

(D) 5-10% 
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37. All are true about milk as a diet 

except : 

(A)   It is low in iron content but 

rich in calcium, sodium and 

potassium 

(B) The major carbohydrate is 

lactose 

(C) The chief proteins are 

caseinogens and lactalbumin    

(D) It is rich in vitamin C and D 

but poor in Vitamin A and 

Riboflavin. 

 37. vkgkj ds :i esa nw/k ds ckjs esa lHkh lR; gSa 

flok; blds % 

(A) blesa vk;ju dh ek=k de gksrh gS 

ysfdu dSfY’k;e] lksfM;e vkSj 

iksVsf’k;e ls Hkjiwj gksrk gS 

(B) izeq[k dkcksZgkbMsªV ySDVkst gS 

(C) eq[; izksVhu dSflbukstsUl vkSj 

ySDVycqfeu gSa 

(D) ;g foVkfeu lh vkSj Mh Hkjiwj gS 

ysfdu foVkfeu , vkSj jkbcks¶ysfou 

esa de gSA 

38. The chemical score of gelatin is- 

(A)   0 

(B) 44 

(C) 60 

(D) 42 

 38. ftysfVu dk jklk;fud Ldksj gS& 

(A) 0 

(B) 44 

(C) 60 

(D) 42 

39. Which of the following has the 

best chemical score? 

(A)   Wheat 

(B) Egg 

(C) Milk 

(D) Pulses 

 39. fuEufyf[kr esa ls fdldk jklk;fud Ldksj 

lcls vPNk gS\ 

(A) xsgwa 

(B) vaMk 

(C) nw/k 

(D) nkysa 
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40. In a person on hunger strike from 

the past three days which of the 

following urinary tests would give 

a positive reaction? 

(A)   Benedict 

(B) Barfoed 

(C) Rothera 

(D) Biuret 

 40. fiNys rhu fnuksa ls Hkw[k gM+rky ij cSBs 

O;fDr esa fuEufyf[kr esa ls dkSu lk ew= 

ijh{k.k ldkjkRed izfrfØ;k nsxk\ 

(A) csusfMDV 

(B) ckjQks,M 

(C) jksFksjk 

(D) C;wjsV 

41. A child has presented with growth 

retardation, inability to walk and 

bruises all over the body. Which of 

the following nutrients should be 

recommended as a supplement to 

the diet? 

(A)   Milk 

(B) Egg yolk 

(C) Citrus fruits 

(D) Pulses 

 41. ,d cPps us fodkl eanrk] pyus esa 

vleFkZrk vkSj iwjs ‘kjhj ij pksV ds fu’kku 

izLrqr fd, gSA vkgkj ds iwjd ds :i esa 

fuEufyf[kr esa ls fdl iks”kd rRo dh 

flQkfj’k dh tkuh pkfg,\ 

(A) nw/k 

(B) vaMs dh tnhZ 

(C) [kÍs Qy 

(D) nkysa 

42. Which of the following has the 

highest glycemic index? 

(A)   Ice cream  

(B) Cocumber 

(C) Bread 

(D) Dextrose 

 42. fuEufyf[kr esa ls fdldk Xykblsfed 

lwpdkad mPpre gS\ 

(A) vkblØhe 

(B) ddM+h 

(C) jksVh 

(D) MsDlVªkst 
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43. All except one are true about the 

significance of dietary fiber? 

(A)   It promotes peristalsis 

(B) Reduces Cholesterol 

absorption 

(C) Increases glycemic index 

(D) Acts as an anti-oxidant 

 43. vkgkj Qkbcj ds egRo ds ckjs esa ,d dks 

NksM+dj lHkh lgh gSa\ 

(A) ;g Øekdqapu dks c<+kok nsrk gS 

(B) dksysLVªkWy vo’kks”k.k dks de djrk gS 

(C) Xykblsfed baMsDl c<+krk gS 

(D) ,d ,aVh vkWDlhMsaV ds :i esa dk;Z 

djrk gSA 

44. Which of the following has the 
highest specific dynamic action 
(SDA)? 
(A)   Egg 
(B) Potato 
(C) Corn oil 
(D) Mango 

 44. fuEufyf[kr esa ls fdlds ikj mPPkre 

fof’k”V xfr’khy fØ;k ¼,lMh,½ gS\ 

(A) vaMk 

(B) vkyw 

(C) edbZ dk rsy 

(D) vke 

45. An 8 month-old –child has been 
brought to the pediatric OPD.The 
examination reveals a thin lean 
emaciated child. There is history 
of diarrhea and refusal to feeds 
from the last few days. The child 
has been diagnosed with 
‘marasmus’. What could have 
been the source of energy to the 
brain cells during the period of 
food deprivation? 
(A)   Glucose 
(B) Fatty acids 
(C) Ketone bodies 
(D) Branched chain amino acids 

 45. 8 ekg ds cPps dks ihfM;kfVªd vksihMh esa 

yk;k x;k gSA ijh{kk esa nqcys&irys cPps dk 

irk pyrk gSA fiNYks dqN fnuksa ls nLr 

vkSj [kkus ls budkj djus dk bfrgkl gSA 

cPPks dk *eSjkLel* gksus dk irk pyk gSA 

Hkkstu dh deh dh vof/k ds nkSjku efLr”d 

dh dksf’kdkvksa dks ÅtkZ dk lzksr D;k gks 

ldrk Fkk\ 

(A) Xywdkst 

(B) QSVh ,flM 

(C) dsVksu fudk;ksa 

(D) ‘kkf[kr J̀a[kyk vehuksa ,flM 
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46. A 34- year- old female has 

reported with a history of 

forgetfulness, loss of hair and cold 

intolerance, she has been 

diagnosed with 

hypothyroidism.What would be 

the effect of this disease on BMR? 

(A)   BMR remains unaltered  

(B) BMR increases 

(C) BMR goes down 

(D) There is initial rise with a 

subsequent fall 

 46. ,d 34 o”khZ; efgyk us foLef̀r] ckyksa ds 

>M+us vkSj BaM vlfg”.kqrk ds bfrgkl ds 

lkFk fjiksVZ dh gSA mls gkbiksFkk;jk;fMTe 

dk irk pyk gSA bl chekjh dk ch,evkj 

ij D;k vlj gksxk\ 

(A) ch,evkj vifjofrZRk jgrk gS 

(B) ch,evkj c<+rk gS 

(C) ch,evkj uhps pyk tkrk gS 

(D) ckn esa fxjkoV lkFk izkjafHkd òf) gqbZ 

gS 

47. A 68 –year old male has been 

brought to the emergency in a state 

of coma. The patient is a known 

alcoholic from the past 10 years. A 

diagnosis of hepatic 

encephalopathy has been made. 

Which of the following nutrient 

should be avoided so as to reduce 

the ammonia formation in the 

body? 

(A)   Protein 

(B) Carbohydrates 

(C) Fats 

(D) Minerals and vitamins 

 47. ,d 68 o”khZ; iq:”k dks dksek dh fLFkfr esa 

vkikr fLFkfr esa yk;k x;k gSA jksxh fiNys 

10 o”kksZ ls ,d Kkr ‘kjkch gSA ;Ñr 

,UlsQSyksiSFkh dk funku fd;k x;k gSA ‘kjhj 

esa veksfu;k ds fuekZ.k dks de djus ds fy, 

fuEufyf[kr esa ls fdl iks”kd rRo ls cpuk 

pkfg,\ 

(A) izksVhu 

(B) dkcksZgkbMsªV 

(C) olk 

(D) [kfut vkSj foVkfeu 
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48. Which of the following is a correct 

statement to justify the cause of 

fatty liver in Kwashiorkor? 

(A)   There is more mobilization of 

lipids from adipose mass  

(B) There is more synthesis of 

lipids in the liver 

(C) There is deficiency of apo B 

100 protein  

(D) All of the above. 

 48. Dok’kh vksjdksj es aQSVh yhoj ds dkj.k dks 

lgh Bgjkus ds fy, fuEufyf[kr esa ls dkSu 

lk lgh dFku gS\ 

(A) olk nzO;eku ls fyfiM dk vf/kd 

teko gksrk gS 

(B) ;Ñr esa fyfiM dk vf/kd la’Yks”k.k 

gksrk gS 

(C) ,ihvks ch 100 izksVhu dh deh gS 

(D) mijksDr lHkh 

49. In diabetes mellitus there is 

reduced oxidation of 

carbohydrates; what will the effect 

of insulin administration or RQ?  

(A)   It will increase 

(B) It will decrease 

(C) No effect 

(D) Initial rise and then fall 

 49. e/kqesg esysVl esa dkcksZgkbMsªV dk 

vkWDlhdj.k de gksrk gS( blaqfyu iz’kklu 

dk RQ ij D;k izHkko iMs+xk\ 

(A) ;g c<s+xk 

(B) ;g ?kV tk,xk 

(C) dksbZ izHkko ugha 

(D) izkjafHkd òf) vkSj fQj fxjkoV 

50. 

 

Which of the following is not a 

component of dietary fiber?  

(A)   Cellulose  

(B) Pectin 

(C) Lignin 

(D) Agar 

 50. fuEufyf[kr esa ls dkSu vkgkj Qkbcj dk 

?kVd ugha gS\ 

(A) lsywykst+ 

(B) isfDVu 

(C) fyfxzu 

(D) vxj 
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51. Which of the following nutrients is 

rich in short and medium chain 

fatty acids? 

(A)   Milk  

(B) Peanut oil 

(C) Sunflower oil 

(D) Almond oil 

 51. fuEu esa ls dkSu lk iks”kd rRo y?kq vkSj 

e/;e J̀a[kyk QSVh ,flM esa le)̀ gS\ 

(A) nw/k 

(B) ewaxQyh dk rsy 

(C) lwjteq[kh rsy 

(D) cknke dk rsy 

52. Human most easily tolerate a lack 

of which of the following nutrient? 

(A)  Protein  

(B) Carbohydrate 

(C) Lipids 

(D) Calcium 

 52. ekuo fuEufyf[kr esa ls fdl iks”kd rRo dh 

deh dks vklkuh ls lgu dj ysrk gS\ 

(A) izksVhu 

(B) dkcksZgkbMsªV 

(C) fyfiM 

(D) dSfY’k;e 

53. How do cells get energy to 

perform their necessary functions? 

(A)   By taking in nutrients from 

food 

(B) By moving water from one 

organelle to another 

(C) Only by taking in oxygen 

from the atmosphere 

(D) By dissolving waste products 

 53. dksf’kdkvksa dks vius vko’;d dk;Z djus ds 

fy, ÅtkZ dSls feyrh gS\ 

(A) Hkkstu ls iks”kd rRo ysus ls 

(B) ikuh dks ,d vkWXksZusy ls nwljs 

vkWxsZusy esa ys tkdj 

(C) dsoy okrkoj.k ls vkWDlhtu ysus ls 

(D) vif’k”V mRiknksa dks Hkax djds 
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54. In sprint events, improvements in 

performance may come from:  

(A)   Faster reaction times  

(B) Increased power generating 

ability of muscles  

(C) Improved resistance to 

fatigue 

(D) All of the above 

 54. fLiazV LIk/kkZvksa esa] izn’kZu esa lq/kkj fuEu ls gks 

ldrk gS% 

(A) rsy izfrfØ;k le; 

(B) ekalisf’k;ksa dh fctyh iSnk djus dh 

{kerk esa òf) 

(C) Fkdku ds fy, csgrj izfrjks/k 

(D) mijksDr lHkh 

55. Endurance training increasing the 

muscle’s capacity to: 

(A)   Contract faster 

(B) Breakdown phosphocreatine 

(C) Burn fat and carbohydrate  

(D) Generate energy 

anaerobically 

 55. /khjt izf’k{k.k ekalisf’k;ksa dh {kerk dks 

c<+krk gS% 

(A) vuqca/k rsth ls 

(B) VwVuk QkWLQkslzhVkbu 

(C) olk vkSj dkcksZgkbMsªV tyk,a 

(D) vok;oh; :i ls ÅtkZ mRiUu djsa 

56. The two 

principlecontractileproteins found 

in skeletal muscle are: 

(A)   Actin and troponin 

(B) Actin and myosin 

(C) Troponin and tropomyosin 

(D) Myosin and tropomyosin 

 56. dadky is’kh esa ik, tkus okys nks izeq[k 

ladqpu’khy izksVhu gSa% 

(A) ,fDVu vkSj Vªksiksfuu 

(B) ,fDVu vkSj ek;ksflu 

(C) Vªksiksfuu vkSj Vªksiksek;ksflu 

(D) ek;ksflu vkSj Vªksiksek;ksflu 
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57. The sarcoplasmic reticulum in 

muscle cells acts as a: 

(A)   Store of digestive enzymes 

(B) Store of sodium ions 

(C) Store of lipid 

(D) Store of calcium ions 

 57. is’kh; dksf’kdkvksa esa lkjdksIYkkfTed tkfydk 

fdlds :i esa dk;Z djrh gS\ 

(A) ikpu ,atkbeksa dk HkaMkj 

(B) lksfM;e vk;uksa dk HkaMkj 

(C) fyfiM dh nqdku 

(D) dSfY’k;e vk;uksa dk HkaMkj 

58. An action potential arriving at the 

motor endplate causes release of: 

(A)   Acetylcholine which binds to 

sodium receptors on the 

muscle membrane  

(B) Sodium ions which binds to 

sodium receptors on the 

muscle membrane 

(C) Calcium ions which initiate 

an action potential along the 

muscle fibre 

(D) None of the above 

 58. 

 

 

eksVj ,aMIysV ij igqapus okyh ,d ,sD’ku 

iksVsaf’kvy fdldh fjgkbZ dk dkj.k curk gS% 

(A) ,flVkbydksykbu tks U;wjkseLdqyj 

taD’ku dks ikj djrh gS 

(B) lksfM;e vk;u tks ekalis’kh f>Yyh 

ij lksfM;e fjlsIVlZ dks cka/krk gS 

(C) dSfY’k;e vk;u tks ekalis’kh Qkbcj 

ds lkFk ,d fØ;k {kerk ‘kq: djrh 

gSa 

(D) mijksDr esa ls dksbZ ugha 
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59. The trigger to initiate the 

contractile process in skeletal 

muscle is: 

(A)   Potassium binding to myosin 

(B) Calcium binding to 

tropomyosin 

(C) ATP binding to the myosin 

cross bridges 

(D) Calcium binding to troponin 

 59. dadky is’kh esa ladqpu izfØ;k ‘kq: djus ds 

fy, fVªxj gS% 

(A) iksVsf’k;e ek;ksflu ds fy, ck/;dkjh 

(B) Vªksiksek;ksflu ds fy, dSfY’k;e 

ck/;dkjh 

(C) ,Vhih ek;ksflu ØkWl fczt ds fy, 

ck/;dkjh 

(D) Vªksiksfuu ds fy, dSfY’k;e ck/;dkjh 

60. After calcium ions have been 

released from the sarcoplasmic 

reticulum they: 

(A)   Initiate an action potential   

(B) Cause sodium channels to 

open in the sarcolemmal 

membrane   

(C) Bind to troponin 

(D) Bind to actin 

 60. lkdksIykfTed jsfVdqye ls dSfY’k;e vk;uksa 

ds fudyus ds ckn os% 

(A) ,d ,D’ku iksVsaf’kvy ‘kq: djas 

(B) ljdksysEey f>Yyh esa lksfM;e pSuy 

[kksyus dk dkj.k curk gS 

(C) Vªksiksfuu ls cka/ksa 

(D) ,fDVu ds fy, ck/; 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 60 questions, out of which only 50 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  

 
 


